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Notes and reminders

• Upcoming: Lab 4 (Monday)


• Exam schedule should post soon (for time and place of Quiz 2)

5:30 p
- 8:30 p

Fi Mar
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Marginal, conditional

1 1 1

Here we've listed the tuples of values as  rows; we could also have used our
alternative format and made a  tensor.

Then we fill out the table by listing the probability of each combination of values. If the
probabilities are as given in the following picture

then our table becomes

A B C

0 0 0 0.30

0 0 1 0.05

0 1 0 0.10

0 1 1 0.05

1 0 0 0.05

1 0 1 0.10

1 1 0 0.25

1 1 1 0.10

Note that the  column sums to 1.

If we want to figure out a marginal probability like , we can sum all of the
corresponding entries of the table. In this case we add rows 5 and 6 to get 

.

If we want to get a conditional probability distribution, we cross out all of the rows that
don't match our observations, then renormalize. For example, to condition on , we
cross out all rows with , then divide by :

A B C unnormalized 

0 0 0 0.30

2 =3 8

2 × 2 × 2

P

P

P (A = 1, B = 0)

P (A = 1, B = 0) = 0.15

B = 1

B = 0 0.10 + 0.05 + 0.25 + 0.10 = 0.5
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Moment : Elf (x) )
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Diagonal covariance
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General covariance
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Clusters
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